4. BASIC RESPONSES

Jump raises - minors  Weak

Jump raises - Majors  Weak

Jump shifts after minor opening  3M = splinter
Jump shifts after Major opening  Bergen

Responses to strong 2 suit open. 24 = waiting
Responses to 2NT opening Simple Stayman

5. PLAY CONVENTIONS

Show priorities Versus Suit  (or both) Versus NoTrump (if different)
Leads  Sequences: Overlead all
Four or more with an honour  4th highest
From 4 small 2nd highest
From 3 cards (no honour)  MUD TON
In partner's suit As above

Discards Low encourage
Count Reverse

Signal onparnerslead. Low encourage
Signal on declarer's lead: Count

Notes Suit preference where obvious

6. SLAM CONVENTIONS JRUNUHAIE

4NT: Blackwood [ | RKCB 0314

AskingBids [ | Cue Bids

7. OTHER CONVENTIONS

Jacoby 2NT
2-way checkback
3% checkback
3-way &
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LY T SN TINTEW =T XS) Describe strength, min.length, or specific meaning  Canapé [ ]

1% 11+ HCP 2+ & 1% 11+ HCP 5+ ¥
14 11+ HCP 4+ ¢ 1A 11+ HCP 5+ &
INT 15-17 bal

may contain 5 card Major

INT Responses 2¢ Simple Stayman
24 trans ¥

2¥ ftrans ¢

(Dbl) system off

24 trans & or range probe
2NT trans ¢
other Smolen, junk stayman

2¢ 23+ bal or GF

2¢ weak ¢

2¥ weak ¥, can be 5 non vul
2& weak &, can be 5 non vul
2NT 20-22 bal

other

2. PRE-ALERTS

1x-1y-1z = unbal

3NT gambling

HCP are a guide

3. COMPETITIVE BIDS / OVERCALLS

Doubles Support Xs and XXs Negative DBL thru 4v
Responsive DBLthru 4%
Jump overcalls weak Unusual NT LUBS
INT overcall: (immediate) 15-18 (re-opening) 11-14
Immediate cue: (minor) majors (Major) michaels
Over: Weak Twos X=TO Opening Threes X=TO

Opponent's transfers X= lead directing/suit, bidding transfer suit-=TO

Opponent's INT X= 16+ PEN, 2% = majors, 2¢/¥/4= nat



29 24 16+ HCP 5+4 3¢ 16+ HCP 5+4 T to play
Describe strength, minimum length, or specific meaning ONT 16+ enquiry 3¢ to play 4%
i 14 6+ HCP 4+¢ 2¢ 0-7 HCP 6+¢ 3¢ 12+ splinter 3 16+ HCP 5+ kY ) 49 to play
1¥ 6+ HCP 4+¥ 2§¥ 0-7 HCP 6+¥ 3¥ 12+ splinter other 2NT responses: 3X= shortage, 3¥= min, 3NT= max
1l 6+ HCP 4+4 o2& 0-7 HCP 6+4 3 12+ splinter 24 INT 16+ enquiry 3¢ 16+ HCP 5+% 4o
INT 6-11 HCP no 4cM ONT 10-11 no 4cM 3NT 12+ no 4cM 3% 16+ HCP 5+& 3A to play 4N
2¢ 10+ HCP 5+ 3% 6-9 HCP 5+% 4o 3¢ 16+ HCP 5+¢ 3NT to play 4 to play
other inverted minor response, step= min, 2X=stopper other 2NT responses: 3X= shortage, 34= min, 3NT= max
19 19 6+ HCP 4+% 2¥ 0-7 HCP 6+ % 3¥ 12+ splinter 2NT 3¢ simple stayman 3N 4@
1 6+ HCP 4+4 24& 0-7 HCP 6+4 3 12+ splinter 3¢ trans ¥ 3NT to play 49
INT 6-11 HCP no 4cM ONT 10-11 no 4cM 3NT 12+ no 4cM 3¢ trans 4 A 4
2% 12+ HCP 5+& orbal 3¢ 0-7 HCP G+&% 4 12+ splinter other
24 10+ HCP 4+ 3¢ 6-9HCP 4+¢ 4@
other inverted minor response, step= min, 2X=stopper Unusual NT: LUBS
19 14 6+ HCP 4+4 29 6-9 HCP 3v 3¢ 10-12HCP 4v 4th Suit Forcing Oneround [ ] Game force
iNT 6-11 HCP no 4cM 2& 0-7 HCP 6+4 3¥ 0-5HCP 4% NT Checkback Prorites:
2¢ inv3¥or GF #orbal 2NT 13+ HCP 4% 3A splinter
26 12+ HCP 5+ 3% 6-0 HCP 4% INT 12+ no 4cM Defence to 3NT opening  X=TO
other Defence to Opening Twos X=TO, 2NT= 15-18 bal, 2X= 13+ 5+ card suit
14 INT 6-11 HCP no 4cM o& 6-9 HCP 34 39 splinter Multi 2@ 123 doubles, 2NT= 15-18 bal
o% inv 34 or GF #orbal  ONT 13+ HCP 44 3A 0-5 HCP 44 RCO style 2-s
24 12+ HCP 5+¢ 3% 6-9 HCP 44 3NT 12+ no 4cM Other 2-s
2¥ 12+ HCP 5+% 3¢ 10-12 HCP 44 oo Defence (1%):X=majors, INT= minors
other to
INT 3e%e 3A 4@ strong (2%):
3¢ 3NT to play 49 1ok /2
k) 4 4o 4 Over INT Interference system off, Lebensohl, X=TO
offer Lebensohl - other uses
2% 24 waiting 2NT g Take out of 4 level pre-empts  4e%/49 X=TO
2v 3k A /¥ X=TO 1A X=TO
- * "
System on over X but off over overcall
2¢ 29 16+ HCP 5+¥ 3% 16+ HCP 5+ 3A
24 16+ HCP 5+4 3¢ to play 3NT to play
2NT 16+ enquiry k) 4 4o
other 2NT responses: 3X= shortage, 3¢= min, 3NT= max

Notes 3-way & responses: 2M= no, 3X= nat, yes
Jacoby responses: 3X= shortage, 3M= 16+ no shortage, 4M=weak



